

Victor Manoel Ferreira Ross de Costa 10772713

$$1 - 2\ddot{x} + 7\dot{x} + 3x = 0 \quad x(0) = x_0 \quad \dot{x}(0) = 0$$

$$2\mathcal{L}[\ddot{x}] = 2[s^2 X(s) - s x(0) - \dot{x}(0)]$$

$$7\mathcal{L}[\dot{x}] = 7[s X(s) - x(0)]$$

$$3\mathcal{L}[x] = 3X(s)$$

$$(2s^2 + 7s + 3)X(s) = (2s + 7)x_0 \Rightarrow X(s) = \frac{2s + 7}{2s^2 + 7s + 3} x_0$$

$$G(s) = \frac{1}{2s^2 + 7s + 3} \Rightarrow G(s) = \frac{1}{(s + 1/2)(s + 3)} \quad \text{poles } -1/2, -3$$

$$X(s) = \left(\frac{a}{s + 1/2} + \frac{b}{s + 3} \right) x_0$$

$$a = \frac{2s + 7}{s + 3} \Big|_{s = 1/2} \Rightarrow a = \frac{8}{7/2} \Rightarrow a = 16$$

$$b = \frac{2s + 7}{s + 1/2} \Big|_{s = 3} \Rightarrow b = \frac{13}{7/2} \Rightarrow b = 26$$

$$X(s) = \left[\frac{16}{7(s + 1/2)} + \frac{26}{7(s + 3)} \right] x_0$$

$$\downarrow \mathcal{L}^{-1}$$
$$x(t) = \left(\frac{16}{7} e^{-t/2} + \frac{26}{7} e^{-3t} \right) x_0$$

$$2 - \ddot{x} + 2\dot{x} + 7x = \ddot{u} + 7\dot{u} + 5u \quad \dot{x}(0) = 2, \quad x(0) = 1$$

$$x(0) = 9 \quad u(0) = 1$$

$$\dot{u}(0) = 0 \quad u(+\infty) = 1$$

$$\mathcal{L}[\ddot{x}] = s^3 X(s) - s^2 \dot{x}(0) - s \dot{x}(0) - x(0)$$

$$2 \mathcal{L}[\dot{x}] = 2 [s^2 X(s) - s \dot{x}(0) - x(0)]$$

$$7 \mathcal{L}[x] = 7 [s X(s) - x(0)]$$

$$\mathcal{L}[\ddot{u}] = s^2 U(s) - s \dot{u}(0) - u(0)$$

$$7 \mathcal{L}[\dot{u}] = 7 [s U(s) - u(0)]$$

$$5 \mathcal{L}[u] = 5 U(s)$$

$$(s^3 + 2s^2 + 7s)X(s) = (s^2 + 7s + 5)U(s) + s^2 \dot{x}(0) + s \dot{x}(0) + x(0) +$$

$$+ 2s \dot{x}(0) + 2x(0) + 7x(0) - u(0) - 7\dot{u}(0) \Rightarrow$$

$$\Rightarrow (s^3 + 2s^2 + 7s)X(s) = (s^2 + 7s + 5)U(s) + s^2 \dot{x}(0) + 3s \dot{x}(0) + 10x(0) - 8u(0) \Rightarrow$$

$$\Rightarrow (s^3 + 2s^2 + 7s)X(s) = 2s^2 + 4s + 5 / (s + 9) \Rightarrow$$

$$\Rightarrow X(s) = \frac{2s^2 + 4s + 90s + 5}{s^2(s^2 + 2s + 7)}$$

$$G(s) = \frac{1}{s^2 + 2s + 7} \Rightarrow G(s) = \frac{1}{(s+1+j\sqrt{6})(s+1-j\sqrt{6})} \quad \text{poles complex}$$

$$X(s) = \frac{c_1}{s} + \frac{c_2}{s^2} + \frac{c_3 + sc_4}{s^2 + 2s + 7}$$

$$c_2 = \frac{2s^2 + 4s + 90s + 5}{s^2 + 2s + 7} \Big|_{s=0} \Rightarrow c_2 = \frac{5}{7}$$

$$c_1 = \frac{d}{ds} \left(\frac{2s^2 + 4s + 90s + 5}{s^2 + 2s + 7} \right) \Big|_{s=0} \Rightarrow c_1 = \frac{620}{49}$$

$$X(s) = \frac{620}{49s} + \frac{5}{7s^2} + \frac{c_3 + sc_4}{s^2 + 2s + 7} \Rightarrow \frac{620}{49} (s^3 + 2s^2 + 7s) + \frac{5}{7} (s^2 + 2s + 7) +$$

$$+ s^2(c_3 + sc_4) = 2s^3 + 4s^2 + 90s + 5 \Rightarrow s^3(49c_4 + 522) + s^2(49c_3 + 1079) = 0$$

$$\begin{cases} 49c_4 + 522 = 0 \Rightarrow c_4 = -522/49 \\ 49c_3 + 1079 = 0 \Rightarrow c_3 = -1079/49 \end{cases}$$